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 a¹yyn (nOp(tai[ :-  1. aikiri[   an[[  vAt&ai[ni  ⅟2 , ⅟4    an
[
[  3/4  Big  smj[. 

                                 2.g&&>jiS,  vjn, $(pyi- p]]sini  Big  aiFi(rt  Äyvhir&  ki[yDi  uk[l[   C[[. 

 p\Ån- 1. n)c[  aip[li  p\Åni[ni  jvib  miT[  yi[³y  (vkÃp  ps>d  kri[. 

{1}  1 m)Tr =   100  s[[m),  ti[  
1

/2 m)Tr  =............................. 

     {a}  100  m)Tr   {b}   25  s[m)   {k}   50  s[m)   {D}   75  s[m) 

{2}  
1

/
4  

a[Tl[  k[Tlimi[  Big ?.............................................  

     {a}    ci[Yi[    {b}   aDFi[    {k}   pi[Ni[   {D}   #iN[ymi>Y)  a[k[y  nh) 

{3}  
3

/
4  

 a[Tl[  k[Tlimi[  Big ?..................................... 

     {a}    pi[Ni[    {b}   aDFi[    {k}   ci[Yi[   {D}   #iN[ymi>Y)  a[k[y  nh) 

{4}  
3

/
4  

(kg\i.  a[Tl[   .......................g\im 

     {a}   750 g\im   {b}    500 g\im    {k}  100  g\im   {D}  250 g\im 

{5}  1 (lTr =  1000 (m(l ,  ti[  
1

/
4  

(lTr  = ...................... (m(l   

     {a}  250  (m(l   {b}   500  (m(l   {k}  750  (m(l   {D}  200  (m(l 

{6}  k&l  40  k[r)ai[  C[.  t[mi>Y)  
1

/2  k[r)ai[  pik[l)  C[,  ti[  k[Tl)  k[r)ai[  kic)  hS[ ?........................ 

     {a}    10    {b}    20    {k}    30     {D}    5 

{7}  k&l  80  biLki[  C[.  t[mi>Y)  
3

/
4  

Bigni  Ci[kriai[  C[  ti[  k[Tli  Cikriai[  hS[ ?..................    

     {a}    20    {b}    40    {k}    50   {D}    60 

{8}  a[k  bi[Tlmi>  1 (lTr  d*F  C[.  t[ d*Fn[  cir  nin)  a[ksrK)  bi[Tlmi>  Brvimi>  aiv[  ti[  dr[k   

       bi[Tlmi>  k[Tl&>  d*F  Briy ?............................. 

     {a}    200  (m(l   {b}    750  (m(l   {k}   500  (m(l   {D}   250 (m(l 

{9}   1 m)Tr  di[rDin[  b[  srKi  Bigmi>  vh[>cvimi>  aiv[  ti[  di[rDini  dr[k  T&kDin)  l>bie  k[Tl)  Yiy ? 

     {a}   2  m)Tr   {b}   50  s[m)    {k}    20  s[m)     {D}   100  s[m) 

p\â - 2.{a} n)c[  aip[l  aikZ(tai[mi>  mi³yi  m&jb  r>g  p*ri[. 

{1}                       {2}     {3}    

 

                               
  1

/
2                                                   

1

/
4  

 

                                   
3

/
4
 

 

{4}   {5} {6}  

 
 
 
 

                        
3

/
4                                                 

1

/
2                                                      

1

/
4

 

(vPy - g(Nt   9. aDF&  an[  pi 
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p\â - 2.{b} n)c[  aip[l  aikZ(tmi>  r>g  p*r[li[  Big  k[Tlimi[  Big {ap*Ni<k }  s*cv[  C[  t[  lKi[. 

  
 {1}                                     {2}                               {3}                              {4}     

 
 
 
               …………………..                      ……………………..                   ……………                           ………………. 

p\â-3. {a} n)c[  aip[li  aikiri[mi>  aDF)  s>²yini  aikiri[mi>  r>g  p*ri[. 

 {1}                                                        {2}  

 

 

 

p\â-3. {b} n)c[  aip[li  aikiri[mi>  ci[Yi  Bign)  s>²yini  aikiri[mi>  r>g  p*ri[. 

 

 

 

 

p\â-4. n)c[  ki[OTkmi>  aip[l)  (vgtn[  aiFir[  p\âi[ni  jvib  aipi[. 

{1}  
1

/
2
  (kg\i  Tim[Ti>  ni  k[Tli  $(pyi  Yiy ?................... 

{2}  
1

/
4  

(kg\i  gijr  ni  k[Tli  $(pyi  Yiy ?................... 

{3}   
3

/
4  

(kg\i  bTiki  ni  k[Tli  $(pyi  Yiy ?................... 

{4}  
1

/
2
 (kg\i  r)>gN  an[  

1

/
4  

(kg\i  bTiki  b[mi>Y)  ki[n)  (k>mt  vFir[ ? 

........................................................................... 

{5}  (cºk) a[  
1

/
2
  (kg\i  D&>gL),  

3

/
4
   (kg\i  gijr  an[  

1

/
4   

(kg\i  bTiki  Kr)wi  an[  d&kindirn[    

      30 $.  ai¼yi  ti[  (cºk)a[  p*rti>  p]si  ai¼yi  k[  vFir[  p]si  ai¼yi  k[  ai[Ci>  p]si  ai¼yi ? 

 

 

p\â-5. n)c[ni ki[yDi  uk[li[ 

{1}  a[k  brN)mi>  2  (kg\i  Ki>D  C[. ji[  cir  a[k  srK)  nin)  brN)mi>  Ki>D  Brvimi>  aiv[  ti[  dr[k   

      brN)mi>  k[Tli  g\im  Ki>D  Briy ? 

 

 {2} p\ic)a[  S(nvir[  ci[Yi  Bign&>  an[  r(vvir[  aDFi  Bign&>  gZhkiy<  ky&<,  ti[  t[N[  b[  (dvsmi>  Yen[   

       k[Tl&>  gZhkiy<  ky&> ?.......................... 

SikBiJ (k>mt  p\(t  (kg\i 

 Tim[Ti> 30  $(pyi 

gijr 20  $(pyi 

r)>gN 10  $(pyi 

bTiki 16  $(pyi 

D&>gL) 18  $(pyi 


